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1. The rational number that does not have a reciprocal is -------- 
2. The rational numbers that are equal to its reciprocals are -------- 
3. The rational number that is equal to its negative is ------ 
4. The product of two rational numbers is always a ----------- 
5. Find the reciprocal of the following rational numbers: 

a) 
ିଷ

ସ
  b) 

ି଺

ିଵଷ
   c) 

଻

ଵଵ
  d) 

ହ

ିଽ
 

6. Find the additive inverse of the following rational numbers: 

a) 
ିହ

଺
  b) 

ଶ

ଽ
  c) 

ଵ

ିସ
  d) 

ିଷ

ିହ
 

7. What should be added to 
ିଷ

ସ
 to get (-1) 

8. What should be subtracted from 
ିଷ

ହ
 to get (-2) 

9. Name the property used in each of the following: 

a) (
ି଻

ସ
 ) × ( 

ିଷ

ସ
 ) = ( 

ିଷ

ସ
 ) ×(

ି଻

ସ
 )  

b) (
ିଷ

ସ
 ) ×(

ଷ

ଶ
 + 

ଵ

ସ
) = ( 

ିଷ

ସ
 × 

ଷ

ଶ
 ) + ( 

ିଷ

ସ
 × 

ଵ

ସ
 )  

c)  
ଷ

ଶ
  + 0 = 

ଷ

ଶ
  

d) 
ିହ

଻
  + ( 

ିଵ

଺
  + 

ଷ

ସ
 ) = ( 

ିହ

଻
  + 

ିଵ

଺
 ) + 

ଷ

ସ
 

10. Simplify each of the following by a suitable property: 

a) [
ଵ

ଶ
 × 

ଵ

ସ
] + [ 

ଵ

ଶ
 × 6] 

 

b) [ 
ଵ

ହ
 × 

ଶ

ଵହ
 ] – [ 

ଵ

ହ
 × 

ଶ

ହ
] 

 
 

c) 
ିଶ

ଷ
 × 

ଷ

ହ
 + 

ହ

ଶ
 − 

ଷ

ହ
 × 

ଵ

଺
  

 

d) 
ଶ

ହ
 × (

ିଷ

଻
 ) − 

ଵ

଺
 × 

ଷ

ଶ
 + 

ଵ

ଵସ
 × 

ଶ

ହ
 

 
11. Simplify: 

a) 
ଵ଺

ଷଽ
 + 

ଽ

ିଶ଺
  

b) (
ିଷ

ଶ
 × 

ସ

ହ
 ) ÷ ( 

ଽ

ହ
 × 

ିଵ଴

ଷ
) – ( 

ଵ

ଶ
  ×

ଷ

ସ
 ) 

c) 
ହ

ଷ
  + 

ଵଵ

ଶ
  + (

ିଽ

ସ
  ) + (

ି଼

ଷ
 ) + ( 

ି଻

ଶ
 ) 

d) (
ଶ

଻
 ) ×[ 

଻

ଵ଺
 – 

ଶଵ

ସ
 ] 



12. Verify a + b = b+ a, if a = 
ିଷ

ଵ଺
  and b= 

ଵ

ଽ
  

13. Verify a×(b+ c) = (a × b) + (a × c), where a = 
ିଵ

ହ
 , b = 

ଶ

ଵହ
, c = 

ଷ

ଵ଴
 

14. Verify the property a×(b ×c) = (a × b) × c, where a = 
ିଶ

଻
 , b = 

ିହ

଺
 , c =  

ଵ

ସ
   

15. The sum of two rational numbers is (  
ିସ

ହ
  ), If one of them is (  

ିଵ

ଶ଴
 ) Find the 

other? 

16. The product of two rational numbers is ( 
ିଶ଼

଻ହ
  ). If one of the numbers is   

ଵସ

ଶହ
  . Find 

the other number? 
 
Answers:  
1. 0  2. 1 & -1  3. 0  4. Rational number 

5. a) 
ିସ

ଷ
 b) 

ିଵ

ି଺
  c) 

ଵଵ

଻
  d) 

ିଽ

ହ
 

6. a) 
ହ

଺
  b) 

ିଶ

ଽ
  c) 

ଵ

ସ
  d) 

ିଷ

ହ
 

7. 
ିଵ

ସ
  8. 

଻

ହ
   

9. a) Commutative property of multiplication 

     b) Distributive property of multiplication over addition 

     c) Additive identity 

     d) Associative property of addition 

             10. a) 
ଶହ

଼
  b) 

ିସ

଻ହ
  c) 2  d) 

ିଵଵ

ଶ଼
 

             11. a) 
ହ

଻଼
  b) 

ିଶଷ

ସ଴
  c) 

ିହ

ସ
  d) 

ିଵଵ

଼
 

            15. 
ିଵ

ସ
    16. 

ିଶ

ଷ
 

 

 

 

   **************************************** 


